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Quiz 3
You must give complete, mathematically correct proofs to receive full credit!!

Problem 1. (5 points) Consider the permutation o = (13654)(1524637) € 5.
(a) Write o as a product of disjoint cycles.

(b) Find ||

(c) Is 0 € A;7 Explain why or why not.

(2) o= (1452)(37)
(b)Y |l = lem (2,4) = 4

CC—) (vl (M)(‘-{S’)(_Sl)(37) &€ A-] Lecausa t+ can be wri Hen

Gs an even number oF -I-rAnsFoai-hons,

Problem 2. (5 points) Let G be a group of permutations on a set X and let @ € X.
Prove that stabg(a) = {« € G | a(e) = a} is a subgroup of G.

Proof  Let (=X WxeX be the :‘denfil-a permutation. Then e(a) = a,
So eés‘}'alaéfu).

S-UPPase o(,P e S'}'GLG (a). Then ol (a) Ta, ﬁ(ﬂ) QA
‘ﬂwa,

Pl = «(fla)) = % (a) = o, s0 ape stab (o)
Svppose @& stabg (a). Then  oL(a)sz o 3wl (u (ay)

'..—-.) A = dhtca)) So

= 7' (a)
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